CANDIDATE ADVERTISEMENT AGREEMENT FORM

See Order for proposed schedule and charges. S	ee Invoice for actual schedule and charges, hereby request station time as follows:
IDENTIFY CANDIDATE TYPE	OR LOCAL CANDIDATE
ALL QUESTIONS/BLOCKS	MUST BE COMPLETED
Candidate name: Wendy Horman Authorized committee:	
Committee to Elect Wendy Horman	
Agency requesting time (and contact information): N/A AxMedia Candidate's political party: Republican	
Office sought (no acronyms or abbreviations): Idaho House of Representatives District 32	
Date of election: May 21, 2024	General Primary
Treasurer of candidate's authorized committee: Tim Anderson	
The undersigned represents that: (1) the payment for the broadcast time requested has been fur the candidate listed above who is a legally qualified card the authorized committee of the legally qualified candid (2) this station is authorized to announce the time as paid for b (3) this station has disclosed its political advertising policies, included and other sales practices (not applicable to federal candidate THIS STATION DOES NOT DISCRIMINATE OR PERMIT DISCRIMINATE DISCRIMIN	didate, or date listed above; y such person or entity; and luding applicable classes and rates, discount, promotion es).
Candidate/Committee/Agency	Station Representative
Signature: AjMedia Buyer	Signature: Julian Nalker Name: Keith Walker
Name: AxMedia Buyer	Name: Keith Walker
Date of Request to Purchase Ad Time: 4/29/2024	Date of Station Agreement to Sell Time:

to an opposing candidate or, if it does, (2) for a duration of at least four seconds and the candidate approved the broadcast an	broadcast matter to be aired pursuant to contains a clearly identifiable photograph a simultaneously displayed printed stater at that the candidate and/or the candidate ins a personal audio statement by the candidate has approved the broadcast.	n or similar image of the candidate ment identifying the candidate, that e's authorized committee paid for the
Candidate/Authorized Committee/A	Agency	
Signature:		
Name:		
Date:		
Ad submitted to Station? Note: Must have separate PB-19 Form Federal candidate certification signed (also bisposition: Accepted Accepted Accepted IN PART (e.g., ad copy Rejected – provide reason:	ms for each version of the ad (i.e., for nove): Yes No Young your received to determine sponsor ID Tomptly upload updated final form when continuous comptly upload updated final form when continuous	every ad with differing copy). N/A
Contract #:	Station Call Letters: KUPI - KQPI	Date Received/Requested:
Est. #:	Station Location: 1 DAHO FAUS	Run Start and Engl Dated: 5/1 - 5/21/2024
use this space to document schedule of purchased or attach separately. If station	raffic system print-out) or other document time purchased, when spots actually aired will not upload the actual times spots aire	is reflecting this transaction to the OPIF or I, the rates charged and the classes of time ed until an invoice is generated, the name ed in the "Terms and Disclosures" folder in

Date: 4/29/24

Sales Order

Stati	on:	KUPI-FM														edia G				
Con	ract Nan	ne: Wen	dy F	Horman E	Est 6874	KUP	1				Α	ddress	S:	125	5 We	est 55t	h Street	3rd Floor		
Con	tract#:								(nor	e)	С	ity:		Ne	w Yo	ork	Sta	ate: NYZip:		10019
Start Date: 5/01/24 End Date:													(
												luyer:								
					Wendy F														()	Vone)
												gency	Со	mmiss	ion %	6: 13.5	0			
					State:									le: Sta						
												Salespe	erso	on: 14	14kv	val		Com	m %:	0
																		Com		
																		ates		
Con	petitive	Code: Po	Olltic	aı							- 1\	лакедс	oou	Policy	. VVII	.11111 00	miliaci L	aics		
			T 1	711	150					DIS	STDI	IBUTION	.1				TO	OTALS		
No	DA		Alt	START	IES END	LEN	M	T	W	T	F	SA SI	-	Per Wk	D/W	RATE	SPOTS	\$\$	PTY	
	START	END 5/03/24	wks	6:00 AM	10:00 AM	30	101			3	3		-	8	D	18.00	8	144.00		
2	5/01/24	5/03/24	+	10:00 AM	3:00 PM	30			3	3	2		+	8	D	18.00	8	144.00		
3	5/01/24	5/03/24		3:00 PM	7:00 PM	30			3	2	3		1	8	D	16.00	8	128.00		
Billi	,	CA ST oot Price:	N.	May 24 416.00 416.00										AL SP						24 416.00
												Д	DJ	USTE	SP	STC				24
												Α	DJ	USTE	OTO	TAL \$				116.00
												A	\PP	ROVE	DE	CLINE				
													\supset)	Traffic			
													\supset)	Sales Ma	anager		
													\supset)	Credit			
)	Local Sa	iles Manager		

Sales Order

	on:	KUPI-FM										gency:							
Cont	ract Nam	ne: Wen	dy F	lorman E	st 6875	KUP	1												
Contract#:									()	City: New		wY	ork	Sta	te: NYZip:	10019			
Star	Date:	: 5/06/24 End Date					5	/10/2	4	Phone: ()									
Revenue Type: National Agency											В	uyer:							
					Wendy H						/ \ \ \								
	City: State: Zip:																		
Prod	duct Nam	e: 2024	Prir	nary														n %: 0	
Esti	mate #:	6875									S	alesper	son: 14	14K	KATZ		Comn	n %: 14	
Con	npetitive (Code: Po	olitic	al							N	1akegoo	d Policy	: Wi	thin Co	ontract D	ates		
П	DAT	TES	Alt	TIN	IES				-	DIST	TRI	BUTION			DATE	TC	TALS	PTY	
No	START	END	wks	START	END	LEN	M	Т	WT		F	SA SU	Per Wk	D/W	RATE	SPOTS	\$\$		
1	5/06/24	5/10/24		6:00 AM	10:00 AM	30	2	2	1 2		1		8	D	18.00	8	144.00		
1	0.00.0																		
2	5/06/24	5/10/24 5/10/24		10:00 AM 3:00 PM	3:00 PM 7:00 PM	30	2	2	2 2	+-	1		8	D D	18.00	8	144.00 128.00		
2 3	5/06/24	5/10/24	N	3:00 PM			-			-									
2	5/06/24 5/06/24 ng Project	5/10/24 ions: By N	N.	3:00 PM May 24 416.00			-			-		TC	8	D	16.00	8		24	
2 3 Billi	5/06/24 5/06/24 ng Project	5/10/24 ions: By M CA ST	N.	3:00 PM May 24 416.00			-			-			8 TAL SP	DOTS	16.00	8	128.00		
2 3 Billi	5/06/24 5/06/24 ng Project	5/10/24 ions: By M CA ST	N.	3:00 PM May 24 416.00			-			-		GF	8 TAL SP ROSS TO	POTS	16.00	8	128.00	416.00	
2 3 Billi	5/06/24 5/06/24 ng Project	5/10/24 ions: By M CA ST	N.	3:00 PM May 24 416.00			-			-		GF AD	8 TAL SP ROSS TO	POTS OTAL D SP	16.00 -\$ OTS	8	128.00	416.00	
2 3 Billi	5/06/24 5/06/24 ng Project	5/10/24 ions: By M CA ST	N.	3:00 PM May 24 416.00			-			-		GF AD	8 TAL SP ROSS TO	POTS OTAL D SP	16.00 -\$ OTS	8	128.00	416.00	
2 3 Billi	5/06/24 5/06/24 ng Project	5/10/24 ions: By M CA ST	N.	3:00 PM May 24 416.00			-			-		GF AD	8 TAL SP ROSS TO	D D TO	16.00 -\$ OTS TAL\$	8	128.00	416.00	
2 3 Billi	5/06/24 5/06/24 ng Project	5/10/24 ions: By M CA ST	N.	3:00 PM May 24 416.00			-			-		GF AD	8 TAL SP ROSS TO JUSTE	D D TO	16.00 -\$ OTS TAL\$	8	128.00	416.00	
2 3 Billi	5/06/24 5/06/24 ng Project	5/10/24 ions: By M CA ST	N.	3:00 PM May 24 416.00			-			-		GF AD	8 TAL SP ROSS TO JUSTE	D D TO	16.00 -\$ OTS TAL\$	8 Traffic	128.00	416.00	
2 3 Billi	5/06/24 5/06/24 ng Project	5/10/24 ions: By M CA ST	N.	3:00 PM May 24 416.00			-			-		GF AD	8 TAL SP ROSS TO JUSTE	D D TO	16.00 -\$ OTS TAL\$	8	128.00	416.00	

Date: 4/29/24

Sales Order

Stati	on:	KUPI-FM											Agency: Katz Media Group						
Cont	tract Nan	ne: Wen	dy H	lorman E	st 6876	KUP	1				А	ddre	ss:	125	West 55t	th Street	3rd Floor		
Contract#: (none)									C	ity:		Nev	ate: NYZip:	1	0019				
	Start Date: 5/13/24 End Date: 5/21/24)					
Revenue Type: National Agency Type: Cash											Buyer								
Advertiser: Committee toElect Wendy Horman																			lone)
Address:										^									
												-							
City	:				State:	Zip:					E	_							
Prod	duct Nam	e: 2024	Prin	nary							S	Sales	pers	son: 141	4kwal		Comm	ı %:	0
Esti	mate #:	6876									5	Sales	pers	son: 141	4KKATZ		Comm	า %:	14
												Лаке	goo	d Policy:	Within Co	ontract D	ates		
COII	ipentive	Code. I. C	Jillo	٠									0	,					
			T 011	T18.	100					DI	STR	IBUTI	ON			TOTALS		DTV	
No	START	TES END	Alt	START	IES END	LEN	M	T	W	T	F	SA		Per Wk	RATE	SPOTS	\$\$	PTY	
1	5/13/24	5/17/24	WIGS	6:00 AM	10:00 AM	30	2	2	2	1	1			8	D 18.00	8	144.00		
2	5/13/24	5/17/24		10:00 AM	3:00 PM	30	1	2	2	2	1			8	D 18.00	8	144.00		
3	5/13/24	5/17/24		3:00 PM	7:00 PM	30	2	1	1	2	2			8	D 16.00	8	128.00		
4	5/20/24	5/21/24		6:00 AM	10:00 AM	30	1	1						2	D 18.00	2	36.00		
5	5/20/24	5/21/24		10:00 AM	3:00 PM	30	1	1						2	D 18.00	2	36.00		
6	5/20/24	5/21/24		3:00 PM	7:00 PM	30	1							1	D 16.00	1	16.00		
Billi	ing Project	CA ST pot Price	,	May 24 504.00 504.00									ТО	TAL SPO	OTS				29
																		_	04 00
																		_	504.00
													GF	ROSS TO	TAL \$			5	29
													GF AD	ROSS TO	TAL \$			Ę	
													GF AD	ROSS TO DJUSTED DJUSTED	TAL \$ SPOTS TOTAL \$			Ę	29
													GF AD	ROSS TO DJUSTED DJUSTED	TAL \$			Ę	29
													GF AD	ROSS TO DJUSTED DJUSTED	TAL \$ SPOTS TOTAL \$			Ę	29
													GF AD	ROSS TO DJUSTED DJUSTED	TAL \$ SPOTS TOTAL \$	Traffic		Ę	29